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Kerekpar kolcsonzo rendszer

Biciklik tarolasa (méret, tipus, napi koltseg
stb...)

KolcsonzOk adatainak tarolasa, hozzaveve
az eddig kolcsonzott biciklik

Automatikus koltseg szamolas

Kolcsonzes tarolasa (kezdeti idopont, ki,
mit, meddig, stb.)



Kerekpar kolcsonzo rendszer

Hany kerekpar van kolcsonzes alatt

Egy ugyfél tobb biciklit kolcsonozhet,
kulonbozo idopontokban is

A visszahozott biciklik automatikus
kezelése

Szamlazas
Biciklik allapotanak tarolasa (kolcsonzes,
javitas, raktarban)
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Hasznalat eset
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Use case: Issue bike
Preconditions: ‘Maintain bike list” must have been executed

Actors: Receptionist
Goal: To hire out a bike
Overview:

When a customer comes into the shop they choose a bike to hire. The
Receptionist looks up the bike on the system and tells the customer how
much it will cost to hire the bike for a specified period. The customer pays,
is issued with a receipt, then leaves with the bike.

Cross-reference:
R3, R4, R5, R6, R7, R8, Rg, R10

Typical course of events:

Actor action System response
1 The customer chooses a bike
2 The Receptionist keys in the bike 3 Displays the bike details

number including the daily hire rate and
Customer specifies length of hire deposit
Receptionist keys this in 6 Displays total hire cost

Customer agrees the price

Receptionist keys in the customer ~ 9 Displays customer details
details

10 Customer pays the total cost

o~ WU

11 Receptionist records amount paid 12 Prints a receipt

Alternative courses:

Steps 8 and 9  The customer details are already in the system so the
Receptionist needs only to key in an identifier and the
system will display the customer details.

Steps 7-12 The customer may not be happy with the price and may
terminate the transaction
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Customer Hire

custld startDate

name numberDays
address dateReturned

tel. 1 1..#| |atenessDeduction

damageDeduction

recordDetails( )

returnHire() processReturn()
findCustomer(name) calcDaysOverDue|( )
editCust(name,addr tel) recordReturnDate( )
Customer() latenessDeduction(amt)
damageDeduction()
1 Hire()
0..%
1..x 1
Payment Bike
paymentDate bike#
total AmountPaid available S an
totalDepositPaid type SpecialistBike
totalDepositReturned size epoch
lcTotalP 0 make <F——insurance
caiciotalPayment odel . T
calcRemainingDeposit( ) gcilyHireRgfe fs'ndSPT.C'EI.E'ke( )
issueReceipt() deposit pecialistBike()
Payment()
?etCharges()
indBike(bike#)
registerBike( )
getBike#()
Bike()
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% ‘Bike

:Receptionist |
]

1:bikeDetails:=findBike (bike#)

I
——— 1

|
2:deposit,rate, totalHire:=getCharges(no.Days)

< ———————————

3:recordDeioi|s(id,nome,oddr,fe|)' iC
| » Lustomer
| 3.1:Payment()
|
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Egyuttmukodesi diagramm

3.1:Payment() —>
5.1.1:getDetails( ) <—

:Customer

1:bikeDetails:=findBike (bike#)

‘Bike

2:deposit,rate totalHire:=getCharges(no.Days) <—

N 3:recordDetails(id,name,addr,tel)

<

:Payment

%

4:Hire(startDate,no.Days) —>

T

5.1:issueReceipt() —>

:calcTotalPayment()

«actor»

Receptionist

‘Hire




